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Math 1151, Quiz #7, FaII!2014 Name g

Instructions: Show all work. Answers without work may only receive partial credit. If you are asked for
an explanation, explain as completely as possible. Use exact answers unless specifically asked to round.

1. Find the derivative of the following functions.
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c. y =sin®(cosx?)

=) M*(CQOL") 000 (00082 ) (- 50 3) %

\ ~lOox sm‘* (w:#)m(mﬁ')%x 1

—— 4=

d. y = tan(xe¥) 1 -

Sec? (xe )€+ 1) - e ( _\fxB&L""(mﬁ

e y=sec(inx) = gunsee(lnx)

| 1. \ |
(b Jx-t - % X Hgd I
f. y=sin"*(2x)

e




2. Find the derivative —Z—fof the implicit function xy® + 1 = x — y2 + cos(y).
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3. Use logarithmic differentiation to find the derivative of y = x!™*,

l'ﬂ y = hq!(x\nx)
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